ORI

[Series GEFH 1/5]

SET ~ 2

I¥H-UH T
A A Q.P. Code 59/ 5/ 2
Roll No. SRS g ——
TE-I8 W 379 g |

Candidates must write the Q.P. Code
on the title page of the answer-book. A

T ferm

POLITICAL SCIENCE
fFetRa @77 : 3 g7 SferRad 3 : 80

Time allowed : 3 hours Maximum Marks : 80

e / NOTE :
() IS B R H IA-TA HGfEa T3 23 € |

Please check that this question paper contains 23 printed pages.

(i) -9 H gifEd g1 1 3R e 7T g9 -7 i i wieeff Ia-gfedent % JE@-T58 W
ford |
Q.P. Code given on the right hand side of the question paper should be
written on the title page of the answer-book by the candidate.

(ii) HUAT ST B foh 30 TH-TA H 30 A E |
Please check that this question paper contains 30 questions.

(iv) HIAT I¥ H1 I FTEHT IIE T | g, IT-Yfeht | U9 1 shHieh ey ford |
Please write down the serial number of the question in the answer-
book before attempting it.

(v) 9 U¥-UF Sl 9gd & 1w 15 e o1 a9 feon mn 8 | weA-u w1 foaawor gafg # 10.15
TS T2 ST@T | 10.15 S | 10.30 St deh Tt heet I3-9 1 YT 3R 39 3rafy
3 B 3 T T T I T R |
15 minute time has been allotted to read this question paper. The question
paper will be distributed at 10.15 a.m. From 10.15 a.m. to 10.30 a.m., the

candidates will read the question paper only and will not write any answer
on the answer-book during this period.

E 59/5/2 PALIN] Page 1 of 24 P.T.O.




T e
frafefaa fewit = sga araur & ufen ot STt uem Hifm
(i) FYH-YT 730 557 & | @t 397 31 E
(i) FoT-97 Qe @Sl 4 [AvifSa 8 - @ &, @, T, 9T & /
(iii) WS- :yw7ge] @12 7% Tglaschig g7 & |
(iv) WE—@:¥e7a&q713 @18 7% 75 I FHR & g1-§1 3] & J97 8 | 9% 597
1 FH 50 T @ 37fere 76 &1 T |

(v) TE—T: 397 G&IT 19 @23 e 30T IHR & AR—-¥R b1 & 97 & | I F77
%7 3R 100 5] 8 37131 787 &7 =13 |

(vi) TS —¥:F97 GEIT24 T 26 TH TR, Hig TIT HHITT HTERT F97 & |

(vii) WE—&F: I GEI27 830 41 e ITITIBR 3 B: - 3H) & J97 8 | 09 Fo7
1 JT 170 7551 G 37187 78 &)1 =0 |

(viii) F¥7-T7 B3 T7 [aecq 781 8 | TefT Fe Fo71 § Sake [aeeq &1 JraerT 1527

77 8 | 37 991 § @ et Uk &1 fdheq 7 I forar 57w |

(ix) 4% AR, Y% GV Tq o] & qrel, &l HTaTvI% 5, 69 12T T & |

59/5/2 Page 2 of 24



("] [m]

TREHE

5
General Instructions :

Please read the following instructions carefully and follow them :

(1) This question paper contains 30 questions. All questions are

compulsory.

(it)  Question paper is divided into FIVE Sections — Section A, B, C, D &

E.

(iti) In section A - Question number 1 to 12 are Multiple Choice (MCQ) type

Questions.

(tv)  In section B - Question number 13 to 18 are Short Answer (SA) type

questions carrying 2 marks each. Answer to these questions should not

exceed 50 words.

(v)  In section C - Question number 19 to 23 are Long Answer (LA) type

questions carrying 4 marks each. Answer to these questions should not

exceed 100 words each.

(vi)  In section D - Question number 24 to 26 are passage, cartoon and map-

based questions.

(vit) In section E - Question number 27 to 30 are also Long Answer type

questions carrying 6 marks each. Answer to these questions should not

exceed 170 words.

(viit) There is no overall choice in the question paper. However, an internal choice

has been provided in few questions. Only one of the choices in such

questions has to be attempted.

(ix) In addition to this, separate instructions are given with each section and

question, wherever necessary.
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In the questions (1 & 2) given below, there are two statements marked as

SECTION - A

Assertion (A) and Reason (R). Read these statements and choose one

correct answer from the given options :

1. Assertion (A) : The United Nations is expected to cope better with the

Unipolar World.

Reason (R): After the disintegration of Soviet Union many new
countries joined the United Nations. 1

Options :

(a) Both (A) and (R) are true and (R), is the correct explanation of (A).

(b) Both (A) and (R) are true, but (R) is not the correct explanation of (A).

(¢) (A)is true, but (R) is false.

(d) (A)is false, but (R) is true.

2.  Assertion (A) : During constitutional monarchy in 1990s, the political
parties and the common people of Nepal wanted to have a
more open and responsive system of government.

Reason (R): The King with the help of the army retained full control
over the government and restricted the expansion of
democracy in Nepal. 1

Options :

(a) Both (A) and (R) are true and (R), is the correct explanation of (A).

(b) Both (A) and (R) are true, but (R) is not the correct explanation of (A).

(¢) (A)is true, but (R) is false.

(d) (A)is false, but (R) is true.
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3. T 3R HYHR § HEg ST 370 i e THTH foharm T ?
(a) 26 S=ad, 2019 () 15 37T, 2019

(c) 9 3T&, 2019 (d) 19 3T&, 2019

4. HIH TP GL&T TNEE 6 T TAT3 Tewd Fohd vl o [T A A & ?
(a) ThHAN b) Qe
(c) = @) e

5. ﬁmﬁ%ﬁﬁﬁaﬁqmw,ﬁﬁmaﬂaﬁwiﬁ% ?
(a) WA h forema wishar o foru worifees fifa wem = |
(b) THT THR & U Rieh 3 & €9 4 B LT |
(c) Torerma Hreishul & foTu e <A Srereet T |
(@) ifs s i SR S TEE HET |

6. Traferfad st o1 SreshuER saferd Hifv :
() I TRIGL AT ! T % w9 | TR
(i) TR EESITT
(iii) =T 3 A
(iv) .. firdt w1 Tyl fatfa g
& fawea gfu
(@) @, (1D, (i), @v)
(b) @), Gii), Gv), @)
(0 (@ii), Gv), (@), (i)
(d @), Gv), @), @ii)
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3.  When was Article 370 related to Jammu and Kashmir abolished ? 1
(a) 26 January, 2019 (b) 15 August, 2019
(¢) 9 August, 2019 (d) 19 August, 2019

4. For how many years are the non-permanent members of UN Security

Council elected ? 1
(a) One year (b) Two years
(c) Three years (d) Five years

5.  Which one of the following is not the objective of NITI Aayog ? 1

(a) To provide strategic input to the development process of India.
(b) To serve as a Think Tank of the Union government.
(¢) To arrange funds for the developmental programmes.

(d) To put an end to the tardy implementation of the policies.

6. Arrange the following in the chronological order : 1
(1) Appointment of Lal Bahadur Shastri as Prime Minister.
(i) Tashkent Agreement
(111) The fourth General Elections.
(1v) Election of V.V. Giri as the President of India.
Choose the correct option :
(@ @, @), ), Gv)
(b) (), (itd), @v), (i)
(© (), @v), (), ()
(d) (@), (v), @), (i)
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(a) I 9T o 3TTTIeh Wiy o foTu weh @reht T |
(b) 3T TST TS ool ST <1 GHE fopa |
(c) 38 HD YW IUNTIIAT 3 ST T |
(d) 38 FReE % fa=m 1 Qar wmed fma |

WA 3T T o W4l o S H TfRad el § 9 S o1 %o 8l 981 8 7

(a) FRA R UTA o i Toh GaX o1 H o1 ST o AT 3R W HiH o g9 1§ T
foRm a2 |

(b) HRA, I ¥ 3TH oA AT & et b1 HTAT HLAT 8 |

(c) Qi <l | eAiehari=ieh e Joreft 3 |

(d) =TS HeT WA T T T AT BT |

TP it R foehrasfier <um # frarer o33 o g ST 6l Tg=rH HIfr |
(a) SfeId ST T HedToT HET |

(b) I HUld ST I 3TTUh TATHT HAMT |

(c) 3= < 1 WATH T |

(d) Toreprasficr < <1 TR 1 o TEm=T Ye T |

Torerferfiaa o @ 19 91 a3 vra 9 Tedia Siehdites @8t o 993 o7 ?
(a) 1960 =1 Teh (b) 1970 1 3
(c) 1980 &1 @®Mh (d) 1990 =1 R

frefarfaa & @ gfae 3Terer 1 g JdT i o1 ?
(a) . B (b) 3.3, quTEEE T
(c) . HEUMHTY (d) . 35
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7. Which among the following statements about the ‘Bombay Plan’ is

59/5/2 Page 9 of 24 P.T.O.

incorrect ?
(a) It was a blueprint for India’s economic future.
(b) It supported state ownership of industry.
(¢) It was made by some leading industrialists.
(d) It strongly supported the idea of planning.
8.  Which one of the following statements about relations between India and
Nepal 1s NOT correct ?
(a) India and Nepal have a special treaty related to travel and work in
the other country without Visa.
(b) India shares the river water from Nepal.
(¢) Both countries have democratic form of government.
(d) Nepal always follows the policies of India.
9. Identify the main reason behind the investments of MNCs in developing
countries.
(a) For the welfare of the underprivileged people.
(b) To increase their own assets and earn profits.
(¢) For the benefit of other countries.
(d) To provide financial support to the developing countries.
10. The decade of ____ was the period of ‘Second Democratic Upsurge’ in India.
(a) 1960s (b) 1970s
(c) 1980s (d) 1990s
11. Who among the following was the main leader of Dravid Movement ?

(a) K. Kamraj (b) E.V.Ramaswami Naicker
(¢) K. Karunanidhi (d) C. Annadurai



12.

13.

14.

15.

16.

17.

18.
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Frefafaa fos wom =1 Fi= feu e ot v S 7e @ wid 1

w1 Y W wifa ¥ g S gdae fidt H Aewasarst o vt fid
JTETIhATS o |1 FHAT Feht, forT g0 ohicft 3 |

(a) dfeae @oIq (b) T e feera
(c) foopras forprm (d) Toerfla <o bt Torifa

-4

“Zferur TR % Tk o I B S shi Af¥dsh HeddT T g 5T & |7 YT hi
gy i | 2

gid 3 H.A A, (s e yfaery af®r) dar L d &, (s sver afdy) w

BEATER A1 TE1 6T ? IS al HRT T HIT | 2x1=2
foresreft sromffan 1 sE  wRa gr s TS offirent w1 farersor iR | 2
STRIYH 2 TS o Tohegl &l STl ! SATEAT HITT | 2x1=2
T 39 TR ¥ e e ) T & forw v 2 3T g | 2x1=2

thg TR g JISHT TN & €F X Aifd 3T &1 739 3 & i @ hRu o8
HifsTT | 2x1=2
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12. Fill in the following blank with an appropriate term from among the

following : 1

means the progress that meets the needs of the present

generation without compromising the need of future generation.

(a) Global commons (b) Development without destruction
(¢) Sustainable development (d) Politics of developed nations
SECTION - B

13. “The South Asian experience of democracy has expanded the global

imagination of democracy.” Justify the statement. 2

14. Why did India not sign the nuclear treaties like NPT and CTBT ? Explain

any two reasons. 2x1=2

15. Analyse the role played by India to help the Tibetan refugees to settle

down. 2

16. Explain any two functions of International Labour Organisation ILO). 2x1=2

17. Suggest any two measures to improve the relations between India and
Pakistan. 2x1=2

18. Explain any two reasons for the formation of the NITI Aayog in place of

the Planning Commission by the Union Government. 2x1=2
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19. YR o @1 ¢Et Farmeat o Tt § egr uee st JfHert o1 qeameh shifer | 4

20. ATRHIT o TrEd W FAE 1972 o S99 Th a8 qd 1971 T R HETC T ? $Hh hlg
T HRUT T HITT | 2x2=4

21. vt & Ffientor o foeg =wretTe U fohegil €1 STaRigia 3TTeioHl I SAFRHINT | 2x 2 =4

22. A % YA o STrhRTer &= H I3t Trar bl Wi’ % Wi T SR gRT 33T 7Y
fop=gil <1 w1 TR I | 2x2=4

23, “‘3Ind B 3= o foeg Uoh SH-3TEIT 9T |7 e o G Hohls cl I AT 12 x 2 =4

-9

24. WA % feu u voifaes T@T-amfes 3§ =m <@ /s @ A, B, C 9u1 D gi ewian T
2 | = € TIE SIS % SR W 6k UgeH hifag 3T 379 IT-qfaeht o 39 Tl
AT, SRART <61 TS AR ShT 3hH ST qei Feferd e, feu e yrey & 3ran forfaw

4x1=4
() % < fEeh 91 wRd &1 1962 H g 53T |
(i) % g ek 1Y WRA 1 HYHR % g R foameg 2 |
(i) o€ SIS 1971 % g o wIe s ¥ 3T |
(iv) 98 YR T S = o |1 ST |ei il 2 |
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19. Evaluate Sardar Patel’s role in the integration of princely states with

SECTION - C

Indian Union. 4

20. Why were the fifth general elections held one year earlier in 1971 instead
of 1972 ? Explain any two reasons. 2x2=4

21. Highlight any two international movements against the environmental
degradation. 2x2=4

22. Assess any two steps taken by Union Government in response to the
demand of autonomy raised by people in most of the regions of North
East. 2x2=4

23. “The ‘Arab Spring’ was the people’s revolution against injustice.” Support
the statement with any two examples. 2x2=4

SECTION -D

24. In the given political outline Map of India, four countries/states have been
marked as A, B, C and D. Identify these on the basis of the information
given below and write their correct names in your answer book along with
their respective serial number of the information used and the concerned
alphabet as per format that follows : 4x1=4

(1) The country with which India fought a battle in 1962.
(1) The country with which India has a dispute on Kashmir.

(i11) The country which came into existence after the 1971 war.

(iv) The Indian state which shares its border with China.

59/5/2 Page 13 of 24 P.T.O.
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e : FafcRad wed hae giantem wlenferat & fog, wod ve 24 F WM W E

(24.1)
(24.2)
(24.3)
(24.9)
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G YA & Haterd <31 o1 9 fafa |
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Sr. No. of the Concerned alphabet Name of the
information used in the map countries/states
(@)
(i1)
(1i1)
(iv)
Note: The following questions are for Visually Impaired Candidates

only in lieu of Q. No. 24 :

(24.1) Name the country with which India fought a battle in 1962.

4x1=4

(24.2) With which country did India have conflict over Kashmir issue
since independence ?

(24.3) Name the country related to Sheikh Mujibur Rahman.
(24.4) Which Indian state in the North East shares its border with

China ?

59/5/2
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25. Trferfaa a1 e | 31eaa i 3R i fou yeai & 3o ford 4x1=4

() g o fewrn mon &fves frmferfaa o 3 frm 2w @ el @ 2

(a) @feedam (b)  TIH TS FHTHT
() == d

(i) Tord o 3R TR “3TTORE SUThT TATSH” o AT o STTShATT fohart T o7 7
(a) 1993 (b) 2000
(¢ 2003 d) 2008

(iii) A H femme e <o # @ frefafad O 5 w1 wh w wE B R 7
(a) W (b) RN
(c) iR @ FmE
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25. Study the given cartoon carefully and answer the questions that follow : 4 x 1 =4

(1) The soldier shown in the cartoon belongs to which one of the
following countries ?
(a) USSR (b) USA
(¢) Iraq (d) Iran

(i1) In which year was Iraq attacked under the code name ‘Operation

Iraqi freedom’ ?

(a) 1993 (b) 2000
(c) 2003 (d 2008
(111) Which one of the following countries shown on the cartoon is a ‘Gulf
country’ ?
(a) Iran (b) Kazakhstan
(¢) Pakistan (d) Oman

59/5/2 Page 17 of 24 P.T.O.
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(iv) 9 @E Ig & frfeifaa & @ fra wh s @ A S S Smar ® ¢
(a) AR (b)  ATRIE feasiz=

() I AR (d)  ATREH T hie

e : Frafafad o Fae givanferm whenfelt & for, T e 25 F UM WR: 4 x 1= 4
(25.1) fTfafeada s @ ey @Eiwiew g ?
(@) o (b) iR
(©) HH (d) hTRE
(25.2)  Torm o A “ITTREH SUhHT ThIeH” o HeATd & SUh T STTHATT g1 AT 7
(@) 1995 (b) 1999
(¢ 2003 (d) 2007
(25.3)  WMD 1 feoreqa &9 fafig |
(a) Iug 37 fufmm fewgam
(b) 3G 37w feeger
(o) o 311 Afeermrm feegamr

(d) <ug 3T A fereae
(25.4)  SA @IS Ig ! f=ferlaa § 9 for ST A A AT ST R 7
(a) TR TR (b) AR forsiyH

(c) HYX TR (d) STToREH Tl hen
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(iv) The First Gulf War is also known as .

(a) Smart War (b) Operation Liberation
(¢) Computer War (d)  Operation Enduring Freedom
Note: The following questions are for Visually Impaired
Candidates only in lieu of Q. No. 25 : 4x1=4

(25.1) Which one of the following is a Gulf country ?

(a) Iran (b) Pakistan
(¢) Oman (d) Kazakhstan
(25.2) In which year was Iraq attacked under the code name

‘Operation Iraqi Freedom’ ?
(@) 1995 (b) 1999
(c) 2003 (d) 2007
(25.3) What is the full form of WMD ?
(a) Weapons of minimum destruction
(b) Weapons of mass destruction
(¢) Weapons of maximum destruction
(d) Weapons of most destruction
(25.4) The First Gulf War is known as -
(a) Smart War (b) Operation Liberation

(¢) Computer War (d) Operation Enduring Freedom
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4x1=4

Tsh STIYN o &9 H Jvh0] I €9 8 YaT8 & Fafd 7 | ¥ yare fafia R & &
Thd 2 | fova & U fomd @ qat fod & 91 a1t fomm, & = 1 @ st @l % i
YSft T TETE, 3 SN o STe T3] T SATIR qT SEaX SATSHTeeh] h aamst H g %
fafira fewai & AR Y STTaTeTE | I8t Ty wEqul aTd & ‘forvaeardt Rt Je, St
U waTal shi faar & 91 g g SR HEm ot 7 |

@

“Tarvaeandt ureafies Jem’ o1 ffafad § 4 Fn war ST ] ?

(a)
(b)
©
(d)

Syefieptr

A ETU
TSROl

Tfietor

(i) SR % AW E —

(i) Freferfaa & & w snffe nfafafrt & gfg wwar g 2

(a)
(b)
()
(d)

(a)
(b)
(c)
(d)

TeHifdeh, AT TR 3ATeaTfcheh
iR, 3T 3T imifers
Teifereh, 3T 3R gaiaeia
TSifaeh, AT 3T 3ATRRiw

USRI BT HH BT

el gerehies 1 91

e Ifvaes e o
IR H 9 firere

(v) Trfafed @ @ % Sy o I 2 ?

59/5/2
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(d)

T A R A IRggE R |

T IR 3R AT fHT M E |
3R %1 99 T gaTT 2 |

T I o1 FGTN AT 2 |
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26. Read the passage given below carefully and answer the questions that
follow : 4x1=4
Globalisation as a concept fundamentally deals with flows. These flows
could be of various kinds — ideas moving from one part of the world to
another, capital shunted between two or more places, commodities being
traded across borders and people moving in search of better livelihoods to
different parts of the world. The crucial element is the ‘worldwide
interconnectedness’ that is created and sustained as a consequence of
these constant flows.
(1) ‘Worldwide interconnectedness’ is also known as ____
(a) Globalisation
(b) Liberalisation
(¢) Socialisation

(d) Privatisation

(11) Dimensions of globalisation are ______
(a) political, social and spiritual
(b) social, economic and geographical
(¢) political, economic and environmental

(d) political, social and economic

(111) Which among the following increases economic activities ?
(a) Decline in employment
(b) Increase in the index of poverty
(¢) Strong global economic growth
(d) Great decline in the trade

(iv) Which one of the following is an impact of globalisation ?
(a) The power of the states has increased.
(b) New trade barriers have been imposed.
(¢) Choice of the customer has increased.

(d) It has given a boost to local industries.
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28.

29.

30.

(@)

(b)

(@)

(b)

(a)

(b)

(@)

(b)
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INTHAT TYET & o e THT Ud 3o Teh—Teh 363 o1 SATEAT HIfT |

YAt

3+3=6

= grT 37T SrfeaaEdT % I o foTu I3TE 7T fopdi i shen hi same hifsy |

3x2=6

qUSH TN k! i THwIE ford g ‘311 fUmer ant’ 1 awensti 1 g 6 1

T TIE ® 7 fagetyor Hifse |

YA

3x2=6

TR ToHfd § o= fuser ot & I & fau ot fordl 9 sl =1

Tergetwor hifsra |

3x2=6

L& o ToTT uh T @t o &9 1 3ATdehae o a1 fohegl a1 Serawi 1 g |

FHINT |

YAt

2x3=6

TIH TP T Ui o 43 wrEft v el gemi % foru sty fhedl =mw

HTIEUET ! T SHIFTT |

4x1%=6

1975 H NN SR sl WRAE T ) gaifires faarfed srem #=i 9= St

2 7 IS oI ST ISR hITT |

YA

3x2=6

1977 % IATH § HE U o Yaq b oI IceerRlt fhdl i SRl i IR

FHINT |
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SECTION - E

27. (a) Explain the three main pillars of the ASEAN Community along with
one objective of each. 3+3=6
OR
(b) Explain any three steps taken by China to grow its economy. 3x2=6

28. (a) How are the three recommendations of the Mandal Commission an

effort to solve the problems of the ‘Other Backward Classes’ (OBCs) ?

Analyse. 3x2=6
OR
(b) Analyse any three factors that led to the rise of ‘Other Backward
Classes’ (OBCs) in Indian Politics ? 3x2=6

29. (a) Explain terrorism as a new source of threat to the security with the
help of any two examples. 2x3=6
OR
(b) Explain any four criteria proposed for new permanent and non-

permanent members of the UN Security Council. 4x1% =6

30. (a) Why 1is the emergency imposed in 1975 considered the most
controversial episode in Indian politics ? Highlight any three
reasons. 3x2=6

OR
(b) Highlight any three factors which were responsible for the downfall
of the Congress Party in the 1977 elections. 3x2=6
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